S ZBE'0S > » it VS ZBE'DS 9v'ESZ'BEN‘S SITV.IOL e

66'vvZ'T 66'vPZ'T 95'86¥'vZT splayan|g eando Sa13id3INTg
1L°Tv0'6 TL°Tv0'6 L6'0LZ'v06 Sp|ayan|q oeys olped SaidEHang
8 v60°'0v 8 60°0F £6 €8Y'600' SPiayan|q oeseind Sa13i43ng

(oozot122)
seSeq sod CIALIIl  (°>vop | (00zoTize) (00zotTZ2)
INI %7 uai]) esnseq |eJ1UQAIB|3 € (soinug)
sajedpiuny oysanduw) . NI %T sosaJdu) ai1qos epuaiy odpiunpy
(1vL101) @2p ewng R 2P 120Nl | DUBI3jsues) ledpiuniy oisandw) ap ewns SOSIUONI Bp edins
ap ewns oysandw) ap ewns =53

ap ewng

€202 I™YLGWIIDIA 30 SIW TV JLNIIANOdSIHHOD

LP8TO00000TEOL DNY - AVAITIEGVLINOD 3d OLNIWVLYVdIA

V'S ‘YNOVAVIIN 3A TVIDUIWOD NOINN




